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The total number of questions answered should not exceed &g

(Candidates should see that answers to questions in excess of &
are cancelled). "

Mathematical Tables may be obtained from the Superintendent:

1. A circle and a square are equal in area. The diagonal
| square is 5 cm. long. Find, in inches, to within one-tenth of an ing!
‘ the radius of the circle.

| 30 marks)

“ 2, (i) Express £3 17s. 9d. as a decimal of £10. .

i (if) Express £2 13s. 6}d. as a decimal of £4 6s, 8}d., comeh

|‘ two places of decimals. |
[30 marks,

3. Find, correct to two decimal places, the value of

8-096842 x 267-8069
750-3068

(30 mat

4. Find the Compound Interest, to the nearest penny, On#

| for 4 years at 249, per annum. )
[30 Jr.-:.-l -

42




e of & map is 6 inches to a mile. Find (i) the area occupied
p by a farm of area 100 acres ; (ii) how many acres there
boin 8 farm occupying an acea of 4 square inches on the map.

[82 marks.]

y—
5 V23 X 5= + +0068.

\%

1
7

[33 marks.]

urchaser of a house let it at £100 per annum, out of
had to pay each year £22 3s. in rates, £4 10s. ground rent,
s, income tax. This gave him a profit of 739, the first
the price he paid for the house. Find (i) the price he paid
ouse ; (il) the percentage profit he made the second year
 £4 10s. extra expenditure on the house.

[36 marks.]

gwimming bath is 100 feet long and 35 feet wide, the depth
at one end, increasing vniformly to 7 feet at the other
long will it take to fill the hath from a pipe which supplies

ns of water per minute ?

[36 marks.]

100 yards long is travelling at 50 miles an hour. How
it take it to pass a station 140 yards long ? If it took 5
pass another train travelling in the opposite direction at
hour, what was the length of that other train ?

[35 marks.]




